\./ s hwh, ofthe follow Ing is not an assumption of Indifference curve analysis”
‘-“0 Ihe prices of the commaodities remain constant,
B) ; "Theconsumer is rational, v~
(©)"The indifference map reflects the tastes and preferences of the consumer. =
ﬂ?) Higher indifference curve represents higher level of satisfaction. ot :
2. Iftwo goods are complements, a rise in the price of one commodity will resultin
(A)  Arise in the price of the other.

!C (B)  Afallin the price of the other.
NAC)  Anupward shiftin the demand curve for the other commodity. #
L (D)  Adownward shift in the demand curve for the other commodity. ™
- For what category of goods, the negative income effect is stronger than the substitution
e effect?
i-) ; (A) Infenior goods Giffen goods
e (C) Nommal goods (D) Complementary goods

\ ¥ \4.//[’&datory pricing policy is designed to :
\/(4() drive competitors out of business (B)  maximise profits

(C) encourage entrants into the market (D) attain least cost output
@ Ifthe price consumption curve is parallel to the horizontal axis :
“AA) The price elasticity of demand of the concerned goodisone. *
4_ (B) The price elasticity of demand of the concerned good is greater than one. -
e (C) Theconcerned good has income elasticity equal to one. -
(D) The demand for the concerned good changes directly proportional to price
\/K Who among the following is NOT associated with the compensation principle of welfare

economics?
(A) Kaldor (B) Skitovsky

\_4€) Pareto y Hicks
<~ A firm in monopolistic competition advertises in order to :
(A) make its product more similar to its competitors
(B) shift the demand curve for its product to the left
(C) make the demand for its product less price elastic ¥~

D) reduce the industry’s price »
\j/(Consider the following Assertion (A) and Reason (R) : (AR
Assertion (A): If the monopolist faces identical demand curve for his commodity in two

separate markets, by practising third degree price discrimination he cannot increase his total

revenue and profits. Wam” ca| anea)
Reason (R): As the marginal revenue turves are identical in two markets when the demand

curves are same, the monopolist will not charge different prices in each market to maximise

profits.

Options:
N

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
Economics (Code : 06) Contd



,\),/ Who for the first time distinguished between value in use and value in exchange and gave e
famous example of diamonds and water?

&) Adam Smith (B) David Ricardo
(C) Alfred Marshall (D) Karl Marx
10. ) Asthe degree of product differentiation increases among the productssoldina monog;li_Sﬁ?a“Y

- competitive industry, which of the following occurs?
2& (A) The costof production falls.
(B)  The amount of marketing expenditures decreases for each firm.
The demand curve for each seller’s product becomes more elastic. <
\_(P)" The demand curve for each seller’s product becomes more inelastic.
=~ “Bandwagon Effect” is associated with which of the following income hypotheses?

\LA)/ Relative (B) Permanent
(C) Absolute (D) LifeCycle
.\y Which of the following increases the money multiplier in an economy?
(A) Increase in Cash Reserve Ratio » ___g_cll__’?f_______

(B) Increase in the banking habit of the people Sy Cdr4~an
(C) Increase in the Statutory Liquidity Ratio ¥
(D) Increaseinthe populationy

L/H./ Fiscal policy is ineffective in :

i
g
(A) Theupward rising position of LM curve. 3

(B) The horizontal portion of the LM curve. md -l
&)~ The vertical portion of the LM curve.

(D) Both the horizontal and upward rising portion of LM curve. Yo

14. The components of “Reserve Money” includes :
I.  Currency with the Public ~ II. Demand Deposits with Banks ~
III. Time Deposits with B/anks IV. Banks’ Reserves with Central Bank
Options:
(A) TandIl B) MandIl ™"
; Iand IV By HlandIV

15" InFriedman’s Permanent Income Hypothesis, transitory income can be positive or negative
because of :

(A) Long-term changesinincome.

)  Temporary and unanticipated changes in current income.
(C) Income remaining unchanged.
(D) Long-term changes inrelative prices.

Economics (Code : 06) : 3 PTO.
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The dig;
Shnclch f
Upply sk cature of the New Classical Model is that the aggregate supply and labour
(A edUIes depend on: —
With o] py &ature of expectations of monetary and fiscal policy variables along
®) A Ces and other supply side factors,
: Mporaneoyg Mmonetary and fiscal policy variables al ith oil pri dothe
Mpply side factorg policy variables along with oil prices and other
Rationa) ex :
pectat 2 o
other supply « 'onS of monetary and fiscal policy variables along with oil prices and
® i PPly side factors,
17 ) ; Rigidities n the Output and money market
Consider the follgwing Statemente ;
. RBItake .
STecourse ¢ . :
system. © Open Market Operations (OMOs) to manage liquidity in the

3. Marginal Standing po: :
e Ing Fa01llty functi

{\/4_/ Non-monetary liabilities of the R oy, India’s

ons as the last resort for banks to borrow short-term

‘Reserve Money”.

Which of the above Statement(s) is/are correct?

24d) (@l ‘
(A) Only1and3 (B)* Only 1,2 and 3
(C) Onlyland? ND). 1,2,3and4

18. K sit ilibri
);O . Who argued that Keynf:§ S @eow of equilibrium with involuntary unemploymentis a special
case of the general equilibrium model, augmented to include money?

(A) W.Le-ontief (B)  J.R.Hicks
\(Er M. Friedman ) @ D. Patinkin

1 3./ [f marginal propensity to consume (MPC) =average propensity to consume (APC) forall
SR levels of income (Y) then the corresponding consumption function will be -

(A) C=atbyY \,CB’)/ C=bY
AC) GO (D) C=atbY?
207 Identify the correct chronological order of the following :
- a. Keynes’ consumption function — ()
b.  Life Cyclehypothesis ~—— C‘F
c.  Relativeincome hypothesis — (7
d.  Friedman’s permanent income hypothesis ~ © l,f:;
Options:
(A) d,bs;a,c B) b,ac,d
_®@) acdb., D) c,d,b,a
N
4 Contd.
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21, Movement from an ineflicient allocation to an efficient allocation in the | dgeworth Box

(A) ncrease the utihty of all individuals

(1) increase the utility of at least one individual, but may decrease the level of utility of

another person
& - o b elioe & |t o anv individual
(C) increase the utility of one individual, but cannot decrease the utility of any indivi
(1) decrease the utility ofall individuals

22, Whichof the following is a problem connected with general cquilibrium analys1s?

(A)  Existence problem (3)  Uniqueness problem
(C)  Stability problem \(/IX All of the above

3. Mongy is said (o be neutral ifa change in the stock of money results in :
y WA A change in price level, while the real output, real interest rates and real balances
remain intact. )
(1B)  Changes in price level and real output, while real interest rates and real balances remain
intact. A
(C)  Changes in price level and real interest rates, while real outputand real balan
mtact,
P)  No change in price level, real output, real interest rates andreal balances.

ces remain

(?\4./7 H demand for a product is pcr[‘ccllw the entif¢ taxincidence will be on -
r (A) Thebuyers v« ' (B) _ Thescllers :
(C)  Shared between the buyers and sellers (D) The government
25, The concentration eflect explained in Peacock Wiseman hypothesis implies that
) \(f\) Public expenditure does not increase insmooth and continuous manner. #
(B)  Public expenditure increases the necessity of increased revenue.
\,(Q"’)’M Central Government’s ecofiomig activity grows faster than that of subnational
Governments,
b (D)  Absolute level of publicexpenditure increases
2() Which of the followinig wag constituted to examine the Centre - State relation in India ?
(A)  Chelliah Committec \{L})’/Sarkuria Commission
(C)  Narsimham Committee (D)  Wanchoo Committee
27.  Which one ofithe following is not a property of a public good?
\;/) (A) Nonexcludability e
(B)  Nonnvalry inconsumption
(C) Demand curve is derivable
D) Marginal cost of supplying the commodity 1s zero
28, Indicate the sequence of the following in terms of their implementation with reference to India :
\ (a)  Income tax (b) ‘ Goods and servicestax — @

(¢)  Value - added tax at the state level (d)  Servicetax

o
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ChOOSC the ¢

orrect answer from the code given below:
A) (), @), (¢), (b) ) (a),(d),(c), (b)
5. iC) ®), @), (@), (¢) D) (c).(d). (a), (b)
" Nanopey economy, intemational cq ital mobility and a fixed exchange rate will xmﬂy :
(A) Coordinateq fiscal policies with rest of the world.
B) Inflation targeting.
Lack ofrnonetary policy autonomy.
- (D) EXChange Tate devaluation
' SlOlper-.Samuelson Theorem states that, unger free-trade, the real income :
(A) Rises for the factor used relatively intensively in the exporting industry as well as the
'Mport-competing industry, '
Rl_f;qs‘fcitbﬂag@wged relatively intensiyely inexporting industry and falls for the
f%h@ Import competing industry.
(©) Falls fo.r the factor yseq relatively intensively in both exporting as well as import competing
Industries, :
(D)  Falis for the fac

.tor used relatively intensively In exportin g industry and rises for the
J 1vely Intensively in the import competing industry,
&/3/, Which among the following cause

2 Asymmetry of information T
Perfect competition

Choose the correct answer from the codes given below:

(A) 1,2and3 B 1and?

(C) Only (D) 2and3

32 Arrange the following 8rouping of the nations from lower to higher order of integration
/D (@ EB T A (b)  Economic Unjon
(¢)  Common Market (d)  Custom Union
Choose the correct answer from the code given below:
AT (@)5(d), (o), (b)

B)  (a), (¢), (b), ()
(C) " (b), (a), (d), (c) NB)(d), (o). (b). (a)
33. Which of the following statement(s) is/are true for 1}
}0 (@)  Itshows the net income generated in the foreign trade sector
Y (b)  Itrelates to claims and liabilities of financial nature —
~ Choose the correctanswer from the code given below-
(A" Only (a)is true By Only (b)is true
(C) Both(a)and (b) are true (D)  Neither (a) nor (b)is true

1€ current account of country?
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rj) 34.  Whichamongst the following economists can be classified as strong advocate q_fpmlcfil'!‘jﬂi;‘?

~AY” F. Listand A. Hamilton (B)  Adam Smith and David Ricardo *#

/\/(‘?) 1.S. Milland P. Krugman (D)  A.Hamiltonand J.S. Mill
~ The “twindeficit’ problem means a country having:

(A)  High fiscal deficit and high current account d\cjy}rt" g
(B)  High fiscal deficit and high revenue deficit
(C) High fiscal deficit and high capital account deficit 7
(D) High fiscal deficit and high primary deficit
36.  Which of the following is not part of the W.T.0. Agreement on Agriculture (A0A) ?
\(#) Inputsubsidies - (B) Export subsidies\_>
(C) Domestic support .~ (D) Market Access
\?}7./ Hedging in the foreign exchange market refers to:
(A) Anactof Aevalualion
(B)  Covering arisk of fluctuations in the foreign exchange rates in fotute
(C) Notcovering arisk of fluctuations in the foreign exchange ratesin future
(D) Anactofrevaluation
; \y Given below is a list of international organisations and their headquarters:
1.  GATT:Geneva
2 IMF: Washington DC
3 World Bank: Washington DC
4.  International Development Association: New York
5 Asian Development Bank: Mandaluyong v
Choose the correct combinations:
(A) 1,2,3only (B) 1,2only
ey 1,2,3,50nly (D) 3,4only
@ The 15" Finance Gonimission has suggested shifting which of the following State subjects to
= the Concurrent Listof the 7" Schedule?
A Health (B) Agriculture
(C) Bettingand gambling (D) Publicorder
Arrow’s impossibility theorem implies that :
(A) Any social decision rule should not violate the requirements of rational choice.
\My social decision rule must violate at least one of the requirements of rational choice.

(C)  Any social decision rule must violate all the requirements of rational choice.

(D) Itisimpossible to violate social decision rules.

Economics (Code : 06) 7 PTO.



Maximises the country’s foreign trade.
Maximises the country’s welfare. , (D) Minimises the country’s imports. *
\y Match List 1 with Lis_1q -
List—I List—II
& Critical Minimum Effor hypothesis —>1.  H.Leibenstein
b Technological Dualism 2. A.O.Hirshchman
¢ Physical Quality of Life [ndex 3. BenjaminHiggins
d.  Permissive and Compulsive Sequences - Morris D
(A) a-1,b3, ¢-2, 44

\ (DY~ thereis an increase in capital per worker
\/45. Which one of the following is not an assu

()

/

 48.  Which ofthe followir

4]

F

42, \’Syum tanffis the tariff that :
\LQ))/

47.

Eurg currency mark
(A)  Above state
(C)  Above state

etisa part ofa larger global market known as Eurodollar market.

ment is correct...” \_(B‘r Above statement is not correct.

ment is partially correct. (D)  Above statement is partially incorrect.

, By a-1, b-3, c-4,d-2
(©) a4,b-2,c1, d-3

D) a-2,b-1, c4d-3
Capital deepening is a process in which ?

(A)  output remains constant

(B)  capitalintensity remains constant
(C)  capital output ratio falls

mption of the Kaldor’s model of growth?
(A) Capital output ratio is constant, "

B) Shareof factor is determined by the respective marginal productivities.
(C) Saving ratio is assumed to be variable de

_(D) Natural rate of growth is variable,
Based on Kuznetsidentification of

pending on per capita capital. -

four possible types of contribution ofagriculture to economic
growth, which one of the following is not considered within the four?

(A) Product contribution, 1%, making available food and raw
(B) Market contribution. i.e

- providing the market for producer goods and consumer
£00ds produced in the non-agricultural sector.

(C) Foreign exchange contribution.
D) Rural banking contribution.

Industrial loc
(( ),\/; Weber

materials.

ation theory has been developed by:

) (B)  Marshall »
\ /@ Williamson

\_/6(’5/ J.M. Keynes — Wealth of N

Economics (Code : 06)

(D)  Ban
1g 1S not matching correctly?
(A)  W.A. Lewis — Dual Economy Model

(B) S.Kuznets— Modem Economic Growth

ations
(D) Jagdish Bhagwati — In Defence of Globalization
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49,

If the central prediction of the growth model of Solow is valid then:
ml GDP difference among nations will increase

Wy Per capita real GDP difference among the nations will diminish

(C)  Economic freedom as measured by Heritage Foundation Index will decrease
(D)  Population growth rate in rich countries will increase

The unbalanced growth model was propounded first by:

(A)~Albert O. Hirschman ° (B) AdamSmith ”

(C) Ragnar Nurkse (D) W.W.Rostow

The Inverted U - hypothesis in connection with inequality and development was proposed
by:

(A) AmartyaSen (B) Jagdish Bhagwati
(C) Robert Solow A_PY " Simon Kuznets

v, 52.  TheA.K.model of growth is based on which of the following production functions?

/' ~_AX CobbDouglas . (B) Constant Elasticity of Substitution
(C) Variable Elasticity of Substitution » (D)  Fixed proportion »

_53. IfinaHarrodian economy, Ga=10% and Gw=8%, this will lead to: :
Mﬁlaﬁon B 'Unemployment ' e > 61w
(C) Deflation (D) Stagflation »
54.

i

56

Economics (Code : 06)

Optimum theory of population speaks of the relationship between :
(A) Population and food supply

ﬂ ~ Population and overall resources

(C) Dependent population and working population
(D) Present population and growth-rate of population

,\Q Assertion (A): To Marxgiti§ surplus labour that leads to capital accumulation.

Reason (R): The difference between actual labour and subsistence labour that a labourer
puts in for whichthe tecerves nothing is surplus labour.

Options:

(A) (A)is correct, but (R) is not the correct reason for (A).
(B) (A)iseorrectand (R)1s incorrcclt_

(C) Both(A)and (R)are correct.

(D) Both(A)and (R)are incorrect.

/ /Which of the following methods would be used for estimation of price change of a house due

to either pollution or good environment like existence of park and scenic beauty?

. (AY~ Hedonic Pricing Method B) C oﬁrﬁngciﬂrt Valuation Method

(C) Externality Effects Method (D) Demand and supply method "

©w
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rees B Oceans, seas and marine resources
58 e goveal‘ shlang resources Clen Wetlnndecprgen ici
Mment levying taxes on polluters or imposing a surgharge for pesticide use represents;
T (A) Internalisation of negative spillover effects
(B) Marging] abatement costs
(©) Instanceg of free riderg e
D) T Hustratiop, of Coase’s theoremy
59, A rise in the median a0

(A) Demographic Transitiop, y

©) Demographic Instabiliy i
In which year was the

Department of Iy: i .
and Public Asset Ma partment of Disinye

nagement?
(A) 2014

(C) 1991

WResidex’ 1S associated with -

(A)  Share prices

(C)  Product prices
. @ Based on Narasimham Committee-] in 19

(A) Open Market O
(B) Issuing fresh currency notes,
(C) Regulating All India Fin

g¢ of population isknown as :

perations (OMO).

Demographic Ageing
(D)  Demographic Momentum
stment renamed as the Department of Investment

. ®) 2016
D) 2011

(B) Mutual fund prices
—D)  House prices

91, the RBI has been given autonomy in :

ancial Institutions.
Working autonomy in announeing the Credit and Monetary Policy.
- Reference Period for the Neon

atal Mortality Rate in India is 5

(A)  three months after birth
28 days after birth
. 6
census 20112
(A) Bihar

) Himachal Pradesh
65.

4_~Which among the following states has the s

(B)  one month after birth

(D) 15 days after birth

mallest percentage of urban population as per

(B) Odisha
(D)  Meghalaya

Assertion (A): Indian agriculture still absorbs a major part of workforce.
Reasons (R): Employment elasticity in agricultural sector is high
Choose the correct option:

(A) Both(A)and (R) are true and (R) is the correct explanation of (A).

(B) Both (A)and (R)are true. but (R)1is not the correct ex
\AET (A)is true, but (R) is false.

(D)  (A)isfalse, but (R) s true.

planation of (A).
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(A) Uttar Pradesh Odisha

‘\ﬁ(}ﬂ"hc* state which is ranked first in the NFSA :Zl;\y the year 2022 1s

(C) Andhra Pradesh (D) Kerala
< @ When was ‘Krishi Udan 2.0” announced, mainly focusing on transporting perishable food
products from the hilly areas, North Eastern states, and tribal areas?

(A) October 2019 (B) October 2020
~{C)~ October 2021 (D) October 2022

68. Palma ratio is the ratio of :
N (A) Income or wealth of the top 5% of population to bottom 40%
(B) Income or wealth of the top 12% of population to bottom 30%
(C) _Income or wealth of the top 10% of population to bottom 50%
Income or wealth of the top 10% and bottom 40% of population
a_69<" Indian Railways has announced to achieve net zero carbon emission by :

\,(4\{ 2030 (B) 2032
(C) 20407 (D) 2047 ¢
~ 702 When was the Millet Mission of Odisha launched?
(A) 2015-16 B) 2016-17
2017-18 (D) 2018-19
71.  Single out the activity that is not included in the Industrial Production Index of India:
/ (A) Manufacturing &K@y Construction
(C) Mining D) Electricity
)0 72.  Identify the method not being used for unemployment estimation by the NSSO in India.
‘(A) Currentmonthly status n_(B) Current daily status
(C) Current weekly status (D) Usual principal and subsidiary status
” Population replacement level of total fertility rate in Indiais:
(0 P By 2.0
(C) W15 D) 1.4
Which of the following is not a part of Bharat Nirman?
(A) Ruralhousing (B) Ruralelectrification
(C) Rural communication \}a)/Agro-based industries

" Consider the following statements and choose from the options:
(i) Gender budgeting means gender analysis of the budget.
(i) Gender budgeting means preparing a separate budget for women.

Options:
\,@{0 Only (i) is correct. (B) Only (it) is correct.
(C) Boththe statements are correct. (D) None of the statements are correct.
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7 o : .1 IN’s Sustainable
@ India’s rank in achieving the Sustainable Development Goals 2030as per UN'S
3 Dt‘\'clopmenl Report, 2023 is :

(A) 5§57 B) 94

(7 112 D) 132 : /
@ In the context of the objective of ‘doubling of farmers” income’, which of the following
statements is not true? Avwe Dafwed
(A)  The target year was 2022-23 %~
(B) It was the real income which was to be doubled.
—4€) Income from agriculture alone is to be doubled.
(D) Diversification of agriculture is to be promoted to achieve this obj ective. "
Which of the following is portrayed in the population pyramid of a country?
(A) Rural —urban distribution of the population. ¥
\(9)/‘ Age and sex distribution of the population. ' 4
(C)  Youngand old distribution of the population. L2

) Gender distribution of the population.
- Which of the following is true of the National Action Plan for Climate Change?

(A) Itwaslaunched in 2008.
(B) Ithas8 vertical missions for pollution control.
\4€J Both(A)and (B) are true.
(D) Neither (A) nor (B) is true.
80 The 2023 Nobel Prize for Economic Sciences was awarded for:

(A) Researchon banks and financial crisis
Advancing understanding of women’s labour market outcomes

(C) Showing that natural experiments can be used to answer central questions for the
society

(D) Studieson asset prices

81. college student drives his motor cycle from his home to college at an average speed of 30

km per hour. While returning to home he drives at an average speed of 20 km per hour. What
is his average speed over the entire journey?

78.

}-E-%_%‘q kT 25 km per hour \_B)~ 24 km per hour
(C) 20km perhour (D) 18 km per hour
?_\_11 @ The elasticity of demand for the demand function, Q=50 +4P —-2P? atP=5is:
L& A 3 B -20
i NG -4 @) -1
?f 0 83. Iftwo events A and B are mutually exclusive then which one of the following is correct?
Q‘f ) P(A+B)=P(A)+P(B) AB) P(AB)=P(A)P(B)
184

(C) P(AB)=P(A)P(B)p D) P(A|B)=P(A)-P®B)”



()

WAnlhmcm mean Y

The sum of square > take
about: {squares of deviations of a set of values is minimum when deviations arc taken

(B) Harmomc mean

3 ([( ) Mexliml (D)  Geometric Mean
- Instatistical hypothesis testing, “Type I error occurs when one :
) (A) ACf:cpts atrue null hypothesis. . (By—Rejects a true null hypothesis
(C ) Rejects a false nyly hypothesis. (D) Accepts a false null hypothesis.
86. Ifacardis chosen from standard pack of cards, what is the probability of getting a five or
i ascven?
4 e }
4 |
; 8 1
7 5 & 1% D -
@ Inmoving average method, we cannot find trend values of :
~—" (A) Starting periods only (B) End periods only
\P Both Starting and End periods (D) Middle periods
88. bt;standard deviation of a variable X is 10, the value of standard deviation of 50 + 5X would
(4) 10 (By50 fepi 2 o o2
©) 100 D) 500 st ahclume s ©
89.  When the population mean and variance are not known, for the comparison of two sample
means, which of the following tests is applied?
(A)  Chi square test \_1B)yStudents t test
(C) Ftest (D) Ztest
90.  Good X IS tgkcn in the horizontal axis and good Y in the vertical axis. What will h ppen to the
budget line if price of good X triples and of good Y doubles? y f
(A) Itbecomes flatter (B}t becomes steeper
« (©) Itsslope remains the same (D)  Itremains unchanged
@ Find the extremum of Z = X2 + y? subjectto X + Y =1 X
R . SRR i 1
A X 3,Y—-2 ' (B) X=5,Y=§' s
I
X = L Y= 1 1 ! s —LZ-
B X= Y= S = o
g
@ If the average cost function is given as AC = : x2—10x+9 Y
3 3 X' = 10x+9, the level of output at which

average cost is equal to marginal cost is:
(A) 18 &) 12 e o

\9/15 D) 21 > .
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93, tivel
(Th —c- demapd and supply functions are given as: P, =30 - S5xand P, =3x— 10 respectively
X=quantity). The consumer surplus is :
(A) 125 ® . -625
4. The exponents of Cobb Douglas Production function represent: j ) {itcoms
(A)  Output elasticity of factors (B) Share of factor income in totall
(C) Efficiency of the production function (¥~ Both(A)and (B) 5 and 27.1

95.  Inamoderately skewed distribution, the arithmetic mean and median are 2o

respectively. What will be the value of the mode?
(A) 26.15 By~ 309

(C) 214 S
@ - Jasticity of demand fora

The sum of income elasticity, own price elasticity and cross price ©
particular commodity is :

(A) 1 @) 0

) -1 5 (D) Indeterminate ' fali
Which of the following property holds good for the region of feasible solutions of a linear
programming problem, provided the feasible solution exists?
(A) Concavity (B) Quasi concavity ”
(C) Convexity S (D) Polyhedron »
\_98/ Consider the following statements in the context of a normal distribution:
(a) ItKastwo points of inflection.

(b)  These two points lie at a distance of one standard deviation from the mean.

Optioas:
\/(()Oﬂgoth (a) and (b) are correct. (B) Both(a) and (b) are incorrect.
(C) Only (a)is correct. (D) Only (b) is correct.

99. The second derivative of a function shows :
A)  Whether the function is increasing or decreasing. ‘
\Mheth'er the function is increasing at an increasing or decreasing rate or decreasing at
an increasing or decreasing rate 7
* (C) Whetherthe function has alimit »
(D) Whether the function is continuous

100. Given are the two regression lines between X and Y as:

Y=4+04X

=" (105
The coefficient of correlation between the two variables will be
(A) 04 B) -09

(C) -06 By 0.6
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